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01 At 22l 3,076 2,376 700
Oget=&H| 3,076
— 2302 U EL2(UHA L&, g4 4
2) 99,000& * 24 + 12& 2,376
—DROH2ALX HE Y
70,0003 * 58 » 204 700
02 =224l 12,240 3,120 9,120
02323 % HA 4,320
—dE2084dH dIIE S
130,000& * 128 * 2044 3,120
~HPOIBMEH SM2
50,000 = 128 = 2004 1,200
OA&ZEHl s X bl 7,920
— 3230t HAMNOE RAES
7,920,000 7,920
03 A2 Z Hl 2,400 2,400 0
OZEs0E sS¢ts 82842 X S
600,000& = 2)HOtE * 23] 2,400
202 Odl 5,400 7,230 A 1,830
01 = LH 4 Hi 5,400 7,230 A 1,830
OZENIE RFA S
150,000& * 3¥ = 123 5,400
203 ¥ S =&l 1,000 0 1,000
03 AIZ=AH 2 =AY 1,000 0 1,000
O&FE=sis g4f=F4 200,000& = 53| 1,000
401 A& HIZ 201 Y] 3,000 0 3,000
01 A& HI 3,000 0 3,000
OHESOIE A4 ZHl S 3,000,000& 3,000
2350t 483 XA 20,000 20,000 0
< 4,800
[ia 15,200
301 LA S 4,000 4,000 0




M LXelZ ot

g NSSsSH 243
& d230ts 435t (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
09 HALAHIXI &= 4,000 4,000 0
OHEs0IS 2Sgds &AL AH24
4,000,000 4,000
307 21201 & 16,000 16,000 0
< 4,800
= 11,200
02 HAHFHYANGEEX 16,000 16,000 0
OZEs0e 243 N 16,000, 000& 16,000
< 4,800
[ia 11,200
2302 TN s4 45,495 43,139 2,356
=) 9,190
2 36,305
307 glztol & 45,495 43,139 2,356
< 9,190
= 36,305
02 It HAMAEE 45,495 43,139 2,356
O&Es0tE Z2 082l X 1A
18,379,000& = 204 & 36,758
S 9,190
a 27,568
OZ5 =)= = 22,973,280& * 2% « 0.1068 4,908
SRS 1,914,440 « 29 3,829
MAIBAIE &5 2,336,536 2,142,209 194,327
< 771,500
= 1,565,036
AAIEHAIE XA 2,336,536 2,142,209 194,327
=) 771,500
s 1,565,036
JIE KX K& 569,472 485,273 84,199
201 Yet2 | 22,272 21,473 799
01 ArR2t2ltl 20,300 19,100 1,200
Oget=2ZH| 9,500
— K% AR EE22 MH(2YE)
500,000& * 8H 4,000
— &EX 1,000& * 1,0000H 1,000
— 80 50,000& = 102 500
—2=3A ST KA
5,000& * 600% 3,000
-z 3 c=2ela & ME
1,000,000& 1,000
Ogxz 10,800
—JIgsx ¥ ol g SUWxte Xt
900,000& » 12& 10,800
02 =24l 1,972 2,373 A 401




2N

& Xtel Z J

I MAI|BIAIE &=
el ATIBHAIA K| (el @2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OXtgrdety] 1,972
—JIgRX ¥ A2 I SFU
1,643 = 1004 * 12€& 1,972
202 o4l 7,200 10,800 A 3,600
01 2L Y| 7,200 10,800 A 3,600
OJIEKRX gd2F&X 150,000& * 49 = 128 7,200
203 & 2 =&XH| 3,000 2,000 1,000
03 AIZH =& 2 =X H| 3,000 2,000 1,000
OJIEKX g4 200,000 = 153] 3,000
308 XAHXIGH SO0l & 100,000 100,000 0
1122 SUHUSHE A EAE A Y| 100,000 100,000 0
Ol X=sx ESAS ¢ A3 X&
100,000, 000 100,000
402 SI2FXHE0| M 120,000 120,000 0
01 CI2ZEXIEANSEXR (MMM E) 120,000 120,000 0
OUHEH ==L e ANYE 2IXE
10,000,000& = 12& 120,000
403 XX SHS K20 & 317,000 216,000 101,000
02 2| &S0 UsHA=2X 2 EFAS HI 317,000 216,000 101,000
OADIEZH BE2AMY XS 317,000,000& 317,000
ASHDIEBEAI A HH| 798,064 1,076,936 N278,872
201 LBt 9| 298,664 295,436 3,228
01 AP 22| d| 269,000 269,000 0
Ogt424| 10,000
— MYECHX] L=IIEAH EES M
10,000,000& 10,000
OoYxtz 259,000
~ DB YUUAMTT S2HA 28N
100,000,000 100,000
—ANels=2SX S2HA 22
150,000,000& 150,000
—HEMATT = 22FES ZYYR
600,0008 * 1504 2 9,000
02 Z2=2=24%4| 29,664 26,436 3,228
O2222 <2 HA 17,784
— 2= CCTV dIIe2
6,000& * 1110HA + 12&€ 7,992
— e HuY &6HE CCTV SA&EH g
= 24,000 * 340 A + 12&€ 9,792
OA& ZH KXY 11,880
— & HHY &ota CCTV A2l
135,000,000 * 8% = 1.1 11,880




2N

& Xtel Z J

I MAI|BIAIE &=
ol ARIDIBIAIA X8 EERED
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
202 o4 | 5,400 8,100 N2,700
01 2L I 5,400 8,100 A2,700

OMUTTZEN PREX
150,000& * 3¥ = 128 5,400
203 SR F & 3,000 2,000 1,000
03 AIZH =& 25 X H| 3,000 2,000 1,000
OfHE 2L HRF=X 200,000 = 153] 3,000
401 AlEHIZL £ 0HY| 491,000 721,000 A 230,000
01 Al&EH| 491,000 721,000 A 230,000
OAA T (L BHALE S Z2CHX]) JIBHAIE X2
100,000,000 100,000
OKNelsZ2H X E=XelAlE 222 WHAE
150,000,000 150,000
OMEEX 23 ¥ =X32 EEHII & A2
2l 50,000,000 50,000
OUE ,&s& MelsE2HX sX224 =2 8%
s &l 30,000,000 30,000
OUHE L BFAIA ST = OIRAHAIS 161,000
— &gl =2 X & (L=250m) 40,000,000 40,000
— MEX T SR X2 M (L=4.0km)
40,000,000 40,000
—235Y FH =2 XA (L=260m)
41,000,000 41,000
—HES FHOIS =5 CCTV 24F I (167
A) 40,000, 000& 40,000
AR J|ILEIINLAS 200,000 180,000 20,000
& 21,500
= 178,500
401 AlEHIZL 2 0HY| 200,000 180,000 20,000
== 21,500
= 178,500
01 Al&H| 200,000 180,000 20,000
Osx=s3SX B 2= & AFR (L=350m)
200,000,000& 200,000
= 21,500
= 178,500
KEAACHT] 2 LT AHLE (S ABMAST] 2 750,000 400,000 350,000
ST )(FHEAY)
= 750,000
401 AlEHIZ 2 0HY| 750,000 400,000 350,000
& 750,000
01 Al& b 750,000 400,000 350,000
OGS ABIAMACL B2HELT AY
750,000,000 750,000
& 750,000




2AM: LXield M ot
B MIlUAE HE
ol MIIIBHAIE X CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SMHEHT S0 FHWSH XA 19,000 0 19,000
308 AHAIEHHSOIA 19,000 0 19,000
07 IXNHMAR S = 19,000 0 19,000
OMYER S0 dEsSH X2AY
19,000, 000& 19,000
A2 (LRl ZH ) 46,056 43,880 2,176
Jl2dul(LXteld ) 46,056 43,880 2,176
Jl2dgl (L Xel g ) 46,056 43,880 2,176
201 et 28,056 26,480 1,576
01 At 22l 28,056 26,480 1,576
Oget=&H| 8,400,000 8,400
O= &l 19,656, 00000 19,656
202 oddl 12,600 12,000 600
01 = LH &4 1l 12,600 12,000 600
OJlege=d 50,000& * 21H » 12& 12,600
203 YR =] 4,200 4,200 0
04 FANSEH =L 4,200 4,200 0
ORN2EYR=AHI 350,000& = 12& 4,200
204 AR HH| 1,200 1,200 0
01 ¥R A 1,200 1,200 0
OZXMg =S| 100,000& * 12& 1,200




